
A
1

A
2

A
3

B
1

C
1

C
2

C
3

C
4

C
5

C
6

C
7

C
8

C
9

6
8

4

7

5

1
1

1
3

8

1
2

1
5

1
6

2
6

1
9

1
7

1
8

2
0

2
2

2
7

2
5

2
4

3
3

3
0

5
3

2
9

3
4

3
6

3
5

3
9

3
7

3
8

4
2

4
4

4
8

4
5

4
9

4
7

5
2

6
3

5
1

6
5

6
4

6
2

6
7

6
9

6
0

5
7

7. 2

5
8

5
4

5
5

7
7

7
3

7
4

7
5

7
9

4
1

8
2

8
3

G
ra

ve
n

8.3

G
ra

ve
n

1
0. 6

7
.6

6
.9

6.6

G
ra

v
en

B
es

c
h

er
m

in
gs

zo
ne

, 
hu

is
aa

n
sl

ui
ti

ng
en

 g
ra

ve
n

7.6

6.6

5.35 .
7

6.7

5
.6

6.8

G
ra

ve
n

G
ra

ve
n

B
oo

gz
in

ke
r

4.
2

3
.6

7 .6

9
. 64

.0

3.5

3
.9

6
.2 5 .2

4
. 7

B
or

e
n

3
.6

4.1

G
ra

v
en

4.
1

4.3

G
ra

ve
n

4. 1

G
ra

ve
n

4.2

G
ra

v
en

G
ra

v
en

4
.2

4
. 13.

8

3.6

3.
0

3.8

3.
5

3 .7

5
.2

3
.9

4 .6

4 .6

4.5

4 .9

3
.7

7 .0

3 .
0

G
ra

v
en

G
ra

v
en

B
o

re
n

6.
5

3
. 2

3.2

3. 3

3. 2

1
2.

3

3
.8

4.0

3
.3

4
.4

8.
5

4.3

4. 4

6
.5

5.7

8
.0

G
ra

v
en

4 .5

3.9

5.
3

3
.0

3
.1

5.1

4
.1

3.
1

3.
0

2
. 9

3.
0

7
.5

3.2

11
.7

2
. 6

5.
7

12
.2

G
ra

ve
n

6
.2

5 .
7

5.7

5
.5

3 .3

3.
3

5
.7

5
.7

G
ra

ve
n

5.
7

9.9

6 .2

5.0

B
es

ch
er

m
in

gs
zo

ne
, 

hu
is

aa
ns

lu
it

in
g

e
n

 g
ra

ve
n

A
sf

a
lt 

za
g

en
,

 m
an

t
e
lb

u
is

 H
D

P
E

 Ø
1
1
0
, S

D
R

1
1

D
ie
p
te

: 
0
.

4
m

-m
v

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(1

x2
vz

l)
+

2
x(
1
x9

6
v

zl
)

M
a
n
te

lb
u
is 

b
e
id

e
 z

ijd
e
n
 a

fd
i

ch
te

n

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 2
x(

1x9
6
v

zl
)

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

1
x2

vz
l)

D
ie

pt
e
 0

.4m
-m

v

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

1
x2

vz
l)

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

8
3
A

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 1
x(1

x2
v

zl
)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

5
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(1

x2
v

zl
)

A
sf

a
lt,

 p
e
rs

in
g
 s

ta
a
l Ø

1
1
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 9
x(

1x
2
vz

l)
+

1
x(1

x2
4v

zl
)

A
sf

a
lt,

 p
e
rs

in
g
 s

ta
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l
)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
2
x(

1
x2

vz
l)

A
sf

a
lt,

 p
e
rsi

n
g
 s

ta
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 5
x(1

x2
v

zl
)+

1x
(

1
x2

4v
zl

)

A
sf

a
lt,

 p
e
r

si
n
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

A
sf
a
lt,

 pe
r

si
n
g
 s

ta
a
l Ø

50
B

o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x2

vz
l

)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(

1
x2

vz
l

)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

5
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(1

x2
vz

l)

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

1
1
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
0
x(1

x2
v

zl
)+

1
x(

1
x2

4
vz

l)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
1
1
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 11
x(

1
x2

vz
l)

A
sf
a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
11

0
B

o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 10
x(

1
x2

vz
l)

+
1
x(

1
x2

4
vz

l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

50
B

oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l
)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 1
x(1

x2
v

zl
)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 3
x(1

x2
v

zl
)

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

A
sf
a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
50

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
3
x(

1
x2

vz
l

)

A
sf

a
lt,

 p
e
r

si
n
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 3x
(

1
x2

vz
l)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l
)

A
sf

a
lt,

 p
e
rsi

n
g
 s

ta
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

50
B

o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 2
x(1

x2
v

zl
)

G
e
st

u
u
rde

 
b
o
ri
n
g,

 m
a
nt

e
lb

u
is

 H
D

P
E

 Ø
1
1
0
, 
S

D
R

1
1

B
o
o
rp

lan
 

vo
l

g
t.

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)

M
a
n
te

lb
u
is

 b
e
id

e 
zi

jd
e
n
 a

fd
ich

te
n

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x2

vz
l

)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

11
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 4
x(1

x2
v

zl
)+

1x
(

1
x2

4v
zl

)+
1

x(
1
x9

6
vz

l
)

A
sf

a
lt,

 p
e
rs

in
g
 

st
a
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e:
 0

.4
m

-m
v

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

4
x(

1
x2

vz
l

)+
1
x(

2x9
6
v

zl
)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

1
1

0
B

oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

6
x(1

x2
vz

l)
+

1
x(
1
x2

4
v

zl
)+1

x(
1
x9

6
vz

l)

A
sf
a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
11

0
B

o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 8x
(

1
x2

vz
l)+

1
x(

1
x2

4
vz

l
)+

1
x(

1
x9

6
vz

l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

50
B

o
o
rd

ie
p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(

1
x2

vz
l

)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(

1
x2

vz
l

)

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 1
x(1

x2
v

zl
)

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

A
sf

a
lt,

 p
e
rs

in
g
 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e:
 0

.4
m

-m
v

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1x2
vz

l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

4 .0

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1x2
vz

l)
+

1
x(1

x9
6
vz

l)

4
.0

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x9

6
vz

l
)

A
sf
a
lt,

 pe
r

si
n
g
 s

ta
a
l Ø

50
B

o
o
r

d
ie

p
te
:

 0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

A
sf

a
lt,

 p
e
rs

in
g
 s

ta
a
l Ø

1
1
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1x2
vz

l)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
1
1
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

+
1
x(

1
x9

6
vz

l)

3. 7

3. 7

3.
7

G
e
st
u
u
rd

e
 b

o
ri
n
g
, 
m

a
n
te

lb
u
is

 H
D

P
E

 Ø
1
1
0
, S

D
R

1
1

B
o
o
rp

la
n
 

vo
l

g
t.

L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 2
x(1

x9
6
v

zl
)

M
a
n
te

lb
u
i

s 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

5.
5

A
sf

a
lt
 z

a
g
e
n
, 
m

a
n
te

lbu
is

 H
D

P
E

 Ø
11
0
,

 S
D

R
1

1
D

ie
p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(1

x9
6
vz

l)
M

a
nt

e
lb

u
is

 b
ei

d
e
 z

ijd
e

n 
a
fd

ich
t

en

9 .7

A
sf

a
lt
 z

a
g
e
n
, 
m

a
n
te

lbu
i

s 
H

DP
E

 Ø
1
1
0
,

 S
D

R
1
1

D
ie

p
te

: 
0
.4

m-
m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(1

x9
6v

zl
)

M
a
n
te

lb
u
is

 b
e
id

e
 z

ij
de
n
 

a
fd

ich
t

en

5.
4

B
o

re
n

G
e
st

u
u
rde

 
b
o
ri
n
g,

 m
a
nt

e
lb

u
is

 H
D

P
E

 Ø
1
1
0
, 
S

D
R

1
1

B
o
o
rp

lan
 

vo
lg

t.
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)
M

a
n
te
l

b
ui

s 
b
e
id

e
 zi

jd
e
n
 a
f

d
ic

h
te

n

B
or

en

G
e
st

u
u
rde

 
b
o
ri
n
g,

 m
a
nt

e
lb

u
is

 H
D

P
E

 Ø
1
1
0
, 
S

D
R

1
1

B
o
o
rp

lan
 

vo
lg

t.
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 2
x(1

x2
v

zl
)

M
a
n
te
l

bu
i

s 
b
e
id

e
 zi

jd
e
n
 a
f

di
ch

te
n

3.
6

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
1
1
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)+

1
x(

1
x9

6
vz

l
)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

1
1

0
B

oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x9
6
vz

l)

A
sf

a
lt,

 p
e
rsi

n
g
 s

ta
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

4.
1

A
sf

a
lt,

 p
e
rs

in
g
 

st
a
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
2
x(

1
x2

vz
l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

50
B

o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt 

za
g
en

.
Le
g
g
e
n
 m

a
n
te

lb
u
is

 
H

D
P

E 
Ø

1
1
0
, 
S

D
R

1
1

D
ie
p
t

e
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 2
x(

1x9
6
v

zl
)

M
a
n
te
l

b
ui

s 
b
e
id

e
 zi

jd
e
n
 a
f

di
ch

te
n

B
es

c
h

er
m

in
g

sz
o

ne
, h

u
is

aa
ns

lu
iti

ng
e

n
 g

ra
ve

n

B
e

sc
h

e
rm

in
gs

z
o

ne
, h

u
is

aa
ns

lu
it

in
g

en
 g

ra
ve

n

B
es

c
h

er
m

in
gs

zo
ne

, 
hu

is
aa

n
sl

ui
ti

ng
en

 g
ra

ve
n

B
e

sc
h

e
rm

in
gs

z
o

ne
, h

u
is

aa
ns

lu
iti

n
g

en
 g

ra
ve

n

B
e

sc
h

er
m

in
gs

zo
ne

, h
u

is
aa

ns
lu

it
in

g
en

 g
ra

ve
n

5
.9

B
or

en

G
est

u
u
rd

e
 b
o
r

in
g
, 
m

a
n
tel

b
u
is

 H
D

P
E

 Ø
1
10

,
 S

D
R

1
1

B
o
o
r

p
la

n
 vo

lg
t

.
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 5x
(

1
x2

vz
l)

M
a
n
te

lb
u
is 

b
e
id

e
 z

ijd
e
n
 a

fd
i

ch
te

n

A
sf
a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
11

0
B

o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 7
x(

1x2
vz

l)
+

3
x(1

x9
6
vz

l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x2

vz
l

)

G
ra

v
en

G
e
st

u
u
rd

e
 b

o
ri
n
g
, 
m

a
n
te

lb
u
i

s 
H

D
P

E 
Ø

1
1
0
, 
S

D
R

1
1

B
o
o
rp

la
n
 v

o
lg

t.
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 2
x(1

x2
v

zl
)

M
a
n
te

lb
u
is

 b
e
id

e
 z

ij
de
n
 

a
fd

ich
t

en

G
est

u
urd

e
 b

o
ri
n
g
, 
m

a
n
t

el
b
u
is

 H
D

P
E

 Ø
1
1
0
,

 S
D

R
11

B
o
o
r

p
la

n
 vo

lg
t

.
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

M
a
n
te

lb
u
is

 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

B
or

en

B
or

en

G
e
st

u
u
rd

e
 b

o
r

in
g
, 
m

a
n
te
l

bu
i

s 
H

D
P

E
 Ø

1
1
0
,

 S
D

R
1
1

B
o
o
rp

la
n
 v

o
lg

t
.

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)
M

a
nt

e
lb

u
is

 b
ei

d
e
 z

ijd
e
n 

a
fd

ich
t

e
n

A
sf

a
lt,

 p
e
rs

in
g
 

st
a
a
l Ø

5
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 3
x(

1x
2
vz

l)

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 1
x(1

x2
v

zl
)

G
e
st

u
u
rde

 
b
o
ri
n
g,

 m
a
nt

e
lb

u
is

 H
D

P
E

 Ø
1
1
0
, 
S

D
R

1
1

B
o
o
rp

la
n
 

vo
l

g
t.

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x2

vz
l

)
M

a
n
te
l

b
ui

s 
b
e
id

e
 zi

jd
e
n
 a
f

d
ic

h
te

n

B
or

en

B
or

e
n

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(1

x2
v

zl
)

A
sf
a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
11

0
B

o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 6
x(

1
x2

vz
l)

+
2
x(

2
x9

6
vz

l
)

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 2
x(

2
x9

6
vz

l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x2

vz
l

)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
7
x(

1
x2

vz
l)
+

1
x(

1x
9
6
v

zl
)

3.5

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

A
sf

a
lt,

 p
e
rsi

n
g
 s

ta
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

1
1

0
B

oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

3
x(1

x2
vz

l)
+

1
x(
1
x9

6
v

zl
)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e:
 0

.4
m

-m
v

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(

1
x2

4
vz

l
)

G
ra

ve
n

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

11
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l
)+

2
x(

1
x9

6
vz

l)

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

1
1
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 2
x(

1x
2
vz

l)
+

2
x(1

x9
6v

zl
)

G
e
st
u
u
rd

e
 b

o
ri
n
g
, 
m

a
n
te

lb
u
is

 H
D

P
E

 Ø
1
10

, S
D

R
1
1

B
oo
r

p
la

n
 v

o
lgt

.
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

5
x(1

x2
vz

l
)+

2
x(

1
x9

6
vz

l)
M

a
n
te

lb
u
i

s 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

B
or

en

A
sf

a
lt,

 p
e
rsi

n
g
 s

ta
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

G
est

u
urd

e
 b

o
ri
n
g
, 
m

a
n
t

el
b
u
is

 H
D

P
E

 Ø
1
1
0
,

 S
D

R
11

B
o
o
r

p
la

n
 vo

lg
t

.
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

+
4
x(

2
x9

6
vz

l
)

M
a
nt

e
lb

u
is

 b
ei

d
e
 z

ijd
e

n 
a
fd

ich
t

en

B
o

re
n

B
ER
-
01

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

3
x(

2
x9

6
vz

l
)

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
3
x(

2
x9

6
vz

l
)

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
3
x(

2
x9

6
vz

l)

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

3
x(2

x9
6v

zl
)

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
3
x(

2
x9

6
vz

l)

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)
+

1
x(

2
x9

6
)

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
2
x(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e:
 0

.4
m

-m
v

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

3
x(

1
x2

vz
l

)+
3
x(

2x9
6
v

zl
)

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 3
x(

1
x2

vz
l)

+
4
x(

2
x9

6
vz

l
)

L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 1
x(2

x9
6
)

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

2
x9

6
)

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

2x
9
6
)

G
e
st

u
u
rd

e
 b

o
ri
n
g
, 
m

a
n
te

lb
u
i

s 
H

D
P

E 
Ø

1
1
0
, 
S

D
R

1
1

B
o
o
rp

la
n
 v

o
lg

t
.

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

M
a
n
te
l

b
u
is

 b
e
id
e
 

zi
jd
e
n
 a

fd
ic

h
te
n

B
or

en

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt,

 p
e
rs

in
g
 s

ta
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
3
x(

1
x2

vz
l)
+

4
x(

2x
9
6
v

zl
)

A
sf

a
lt,

 p
e
rs

in
g
 s

ta
a
l Ø

5
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1x2
vz

l)

A
sf
a
lt,

 pe
r

si
n
g
 s

ta
a
l Ø

50
B

o
o
r

d
ie

p
te
:

 0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 3
x(1

x2
v

zl
)+

4x
(

2
x9

6v
zl

)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

11
0

B
o
o
rd

ie
p
t

e:
 0

.4
m

-m
v

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

4
x(

1
x2

vz
l

)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

A
sf
a
lt,

 pe
r

si
n
g
 s

ta
a
l Ø

11
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

+
4
x(

2
x9

6
vz

l
)

3.
0

2
.8

3
.0

3.
0

G
e
st

u
u
rd

e
 b

o
r

in
g
, 
m

a
n
te
l

bu
i

s 
H

D
P

E
 Ø

1
1
0
, 
S

D
R

1
1

B
o
o
r

p
la

n
 vo

lg
t

.
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)
+

4
x(2

x9
6v

zl
)

M
a
n
te

lb
u
is

 b
e
id

e 
zi

jd
e
n
 

a
fd

ich
te

n

B
or

en

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
4
x(

2
x9

6
vz

l)

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
4
x(

2
x9

6
vz

l)

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
4
x(

2
x9

6
vz

l)

B
e
st

aa
n
d
e
 

M
B

 i
n
 d

e
 br

u
g

L
eg

ge
n
 

b
ui

s 
H

D
P

E
 Ø

1
1
0
 

S
D

R
1
1

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 4
x(

2x9
6
v

zl
)

B
e

st
a

a
n

d
e

 M
B

  
in

 d
e

 b
ru

g

G
e
st

u
u
rde

 
b
o
ri
n
g,

 m
a
nt

e
lb

u
is

 H
D

P
E

 Ø
1
1
0
, 
S

D
R

1
1

B
o
o
rp

lan
 

vo
l

g
t.

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)

M
a
n
te

lb
u
is

 b
e
id

e 
zi

jd
e
n
 a

fd
ich

te
n

B
or

e
n

3
.5

A
sf

a
lt,

 p
e
rs

in
g
 s

ta
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(1

x2
vz

l
)

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 2
x(1

x2
v

zl
)

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
2
x(

1
x2

vz
l)
+

1x(
2
x9

6
vz

l)

G
e
st

u
u
rde

 
b
o
ri
n
g,

 m
a
n
te

lb
u
is 

H
D

P
E 

Ø
1
1
0
, 
S

D
R

1
1

B
o
o
rp

lan
 

vo
lg

t.
L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

2
x9

6
vz

l)
M

a
n
te

lb
u
is

 b
e
id

e 
zi

jd
e
n
 

a
fd

ich
te

n

B
o

re
n

A
sf

a
lt,

 p
e
rs

in
g
 s

ta
a
l Ø

5
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1x2
vz

l)

A
sf
a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
50

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(2

x9
6
v

zl
)

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

2x
9
6
v

zl
)

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

2x
9
6
v

zl
)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

1
1

0
B

o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

2
x9

6
vz

l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
1
1
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1x2
vz

l)
+

1
x(2

x9
6
vz

l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l) A

sf
a
lt,

 p
e
rsi

n
g
 s

ta
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l
)+

1
x(

2
x9

6
vz

l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
7
x(

1
x2

vz
l

)+
2
x(

2x9
6
v

zl
)

G
e
st

u
u
rd

e
 b
o
r

in
g
, 
m

a
n
te

lb
u
is

 H
D

P
E

 Ø
1
10

,
 S

D
R

1
1

B
o
o
r

p
la

n
 vo

lg
t

.
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

M
a
n
te

lb
u
i

s 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

B
o

re
n

G
est

u
urd

e
 b

o
ri
n
g
, 
m

a
n
t

el
b
u
is

 H
D

P
E

 Ø
1
1
0
,

 S
D

R
11

B
o
o
r

p
la

n
 vo

lg
t

.
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 2
x(

1x2
vz

l)
M

a
n
te

lb
u
is

 
b
ei

d
e
 z

ijd
e
n 

a
fd

ic
h
te

n
B

or
e

n

A
sf
a
lt,

 pe
r

si
n
g
 s

ta
a
l Ø

11
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(

2
x9

6
vz

l
)

G
est

u
urd

e
 b

o
ri
n
g
, 
m

a
n
t

el
b
u
is

 H
D

P
E

 Ø
1
1
0
,

 S
D

R
11

B
o
o
r

p
la

n
 vo

lg
t

.
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 3
x(

1x
2
vz

l)
+

1
x(2

x9
6
vz

l)
M

a
nt

e
lb

u
is

 b
ei

d
e
 z

ijd
e

n 
a
fd

ich
t

en

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
2
x(

2
x9

6
vz

l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

1
1

0
B

oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(2

x9
6
vz

l)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
1
1
0

B
o
o
rd

iep
t

e
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 2x
(

2
x9

6v
zl

)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

ie
p
t

e:
 0

.4
m

-m
v

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(

1
x2

vz
l

)

A
sf

a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
5
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

G
e
st
u
u
rd

e
 b

o
ri
n
g
, 
m

a
n
te

lb
u
is

 H
D

P
E

 Ø
1
1
0
, S

D
R

1
1

B
o
o
rp

la
n
 

vo
l

g
t.

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 2
x(2

x9
6
v

zl
)

M
a
n
te

lb
u
is 

b
e
id

e
 z

ijd
e
n
 a

fd
i

ch
te

n

B
or

e
n

L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 2
x(2

x9
6
v

zl
)

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 2
x(

2x9
6
v

zl
)

G
e
st
u
u
rd

e
 b

o
ri
n
g
, 
m

a
n
te

lb
u
is

 H
D

P
E

 Ø
1
10

, S
D

R
1
1

B
o
o
rp

la
n
 

vo
l

g
t.

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
2
x(

2
x9

6
vz

l)
M

a
n
te

lb
u
i

s 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

B
or

en

G
e
st

u
u
rd
e
 

b
o
rin

g
,

 m
a
n
t

e
lb

u
is

 H
D

P
E

 Ø
1
1
0
, S

D
R

1
1

B
o
o
rp

la
n
 

vo
l

g
t.

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 4x
(

1
x2

vz
l)+

1
x(

2
x9

6
vz

l
)

M
a
n
te

lb
u
i

s 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

B
or

en

A
sf
a
lt,

 pe
r

si
n
g
 s

ta
a
l Ø

11
0

B
o
o
r

d
ie

p
te
:

 0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 10
x(1

x2
vz

l)
+

1
x(

2
x9

6
vz

l
)

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

1
1
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 5
x(

1x
2
vz

l)

G
e
st

u
u
rd

e
 b

o
ri
n
g,

 
m

a
n
te
lb

u
is

 H
D

P
E

 Ø
1
1
0
, 
S

D
R

1
1

B
o
o
rp

la
n
 v

o
lg

t
.

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 5
x(

1
x2

vz
l)

M
a
n
te
l

b
u
is

 b
e
id
e
 

zi
jd
e
n
 a

fd
ic

h
te
n

B
o

re
n

G
est

u
u
rd

e
 b
o
r

in
g
, 
m

a
n
tel

b
u
is

 H
D

P
E

 Ø
1
10

,
 S

D
R

1
1

B
o
o
r

p
la

n
 vo

lg
t

.
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(1

x2
vz

l
)

M
a
n
te

lb
u
is

 b
e
id

e
 z

ij
de
n
 

a
fd

ich
t

en

B
or

en

B
or

e
n

G
e
st
u
u
rd

e
 b

o
ri
n
g
, 
m

a
n
te

lb
u
is

 H
D

P
E

 Ø
1
10

, S
D

R
1
1

B
o
o
rp

la
n
 

vo
l

g
t.

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 3x
(

1
x2

vz
l)+

1
x(

2
x9

6
vz

l
)

M
a
n
te

lb
u
is

 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 4
x(

1
x2

vz
l)

G
ra

v
en

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
4
x(

1
x2

vz
l

)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

11
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

4
x(1

x2
vz

l
)

B
e

sc
h

e
rm

in
g

sz
o

n
e

, h
u

is
aa

n
sl

u
iti

n
g

en
 g

ra
v

en

B
es

c
h

er
m

in
gs

z
o

ne
, h

u
is

a
a

ns
lu

iti
ng

en
 g

ra
ve

n

A
sf

a
lt,

 p
e
rs

in
g
 s

ta
a
l Ø

5
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 2
x(

1x2
vz

l)

A
sf

a
lt 

za
g
e
n
.

L
e
g
ge

n
 

m
a
n
te
l

b
ui

s 
H

D
P

E
 Ø

1
1
0
,

 S
D

R
11

,
D

ie
pt

e
: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 5
x(1

x2
v

zl
)

M
a
n
te

lb
u
is

 b
e
id

e 
zi

jd
e
n
 a

fd
ic

h
te

n
.

B
e

sc
h

er
m

in
g

sz
o

ne
, h

u
is

a
a

ns
lu

iti
ng

en
 g

ra
ve

n

G
est

u
urd

e
 b

o
ri
n
g
, 
m

a
n
t

el
b
u
is

 H
D

P
E

 Ø
1
1
0
,

 S
D

R
11

B
o
o
r

p
la

n
 vo

lg
t

.
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(

1
x2

vz
l

)
M

a
nt

e
lb

u
is

 b
ei

d
e
 z

ijd
e
n 

a
fd

ich
t

e
n

B
or

en

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
3
x(

1
x2

vz
l)
+

1
x(

1
x9

6
vz

l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

1
1

0
B

o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 4x
(

1
x2

vz
l)+

1
x(

1
x9

6
vz

l
)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
rd

iep
t

e
: 
0.

4
m

-m
v

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)

B
es

c
h

er
m

in
gs

z
o

ne
, 

hu
is

a
a

ns
lu

it
in

g
e

n 
gr

a
ve

n

G
e
st

u
u
rd
e
 

b
o
rin

g
,

 m
a
n
t

e
lb

u
is

 H
D

P
E

 Ø
1
1
0
, S

D
R

1
1

B
o
o
rp

la
n
 

vo
l

g
t.

L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 4
x(1

x2
v

zl
)

M
a
n
te

lb
u
is 

b
e
id

e
 z

ijd
e
n
 a

fd
ic

h
te

n

B
or

en

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 4x
(

1
x2

vz
l)

A
sf

a
lt
 z

a
g
e
n
.

L
eg

g
e
n
 

m
a
n
te
lb

u
i
s 

H
DP

E
 Ø

1
1
0
,

 S
D

R
1
1
,

D
ie
p
t

e
: 
0
.4

m
-m

v
L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt 

za
g
e
n
.

L
eg

g
e
n
 

m
a
n
te
lb

u
i
s 

H
DP

E
 Ø

1
1
0
,

 S
D

R
1
1
,

D
ie
p
t

e
: 0

.
4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 3
x(1

x2
v

zl
)

M
a
n
te

lb
u
is 

b
e
id

e
 z

ijd
e
n
 a

fd
ic

h
te

n

A
sf

a
lt 

za
g
e
n
.

Le
g
g
e
n
 m

a
n
te

lb
u
is

 
H

D
P

E 
Ø

5
0
, 
S

D
R

1
1
,

D
ie

p
te
:

 0
.4m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x2

vz
l

)
M

a
n
te

lb
u
is

 
b
ei

d
e
 z

ijd
e
n 

a
fd

ic
h
te

n

G
est

u
urd

e
 b

o
ri
n
g
, 
m

a
n
t

el
b
u
is

 H
D

P
E

 Ø
1
1
0
,

 S
D

R
11

B
o
o
r

p
la

n
 vo

lg
t

.
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1x2
vz

l)
+

2
x(1

x9
6
vz

l)
M

a
nt

e
lb

u
is

 b
ei

d
e
 z

ijd
e
n 

a
fd

ich
t

e
n

B
or

en

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

1
1
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
5
x(

1
x2

vz
l)
+

1
x(

1
x9

6
vz

l)

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

1
1
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 5
x(1

x2
v

zl
)+

1x
(

1
x9

6vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
r

d
ie

p
te
:

 0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

4
x(1

x2
vz

l)
+

1
x(
1
x9

6
v

zl
)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
2
x(

1
x2

vz
l)

A
sf

a
lt,

 p
e
r

si
n
g 

st
a
a
l Ø

1
1
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 2
x(1

x2
v

zl
)

B
e

sc
h

e
rm

in
g

sz
o

n
e

, h
u

is
aa

n
sl

u
iti

n
g

en
 g

ra
v

en

B
es

ch
e

rm
in

gs
zo

n
e

, h
u

is
aa

n
sl

u
iti

n
ge

n
 g

ra
v

en

B
es

ch
er

m
in

gs
zo

ne
, 

hu
is

aa
ns

lu
it

in
g

e
n

 g
ra

ve
n

B
es

c
h

er
m

in
gs

zo
n e

, 
hu

is
aa

ns
lu

it
in

g
e

n
 g

ra
ve

n

B
es

ch
er

m
in

gs
zo

ne
, 

hu
is

aa
ns

lu
it

i n
g

e
n

 g
ra

ve
n

B
e

sc
h

e
rm

in
g

sz
o

n
e

, h
u

is
aa

n
sl

u
iti

n
g

en
 g

ra
v

en

B
es

c
h

er
m

in
gs

z
o

ne
, h

u
is

a
a

ns
lu

it
in

g
en

 g
ra

ve
n

B
es

ch
er

m
in

gs
zo

ne
, 

hu
is

aa
ns

lu
it

i n
g

e
n

 g
ra

ve
n

B
e

sc
h

e
rm

in
g

sz
o

n
e

, h
u

is
aa

n
sl

u
iti

n
g

e n
 g

ra
v

en

A
sf

a
lt
 z

a
g
e
n
.

L
eg

g
e
n
 

m
a
n
te
lb

u
i
s 

H
DP

E
 Ø

5
0
,

 S
D

R
1
1

D
ie

p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

M
a
n
te

lb
u
is

 b
e
id

e 
zi

jd
e
n
 

a
fd

ich
te

n

A
sf

a
lt 

za
g
en

.
L
e
g
g
e
n

 m
a
nt

e
lb

u
is

 H
D

P
E

 Ø
5
0
, 
S

D
R

1
1

D
ie

pt
e
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1x2
vz

l)
M

a
n
te
l

b
ui

s 
b
e
id

e
 zi

jd
e
n
 a
f

d
ic

h
te

n

A
sf

a
lt
 z

a
g
e
n
.

L
eg

ge
n
 

m
a
n
te
l

b
ui

s 
H

DP
E

 Ø
5
0
,

 S
D

R
1
1

D
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l
)

M
a
n
te

lb
u
is

 b
e
id

e
 z

ij
de
n
 

a
fd

ich
t

en

A
sf

a
lt
 z

a
g
e
n
.

L
e
g
ge

n
 

m
a
n
te
l

b
ui

s 
H

D
P

E
 Ø

5
0
,

 S
D

R
1
1

D
ie

p
te
:

 0
.4m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x2

vz
l

)
M

a
n
te

lb
u
is

 
b
ei

d
e
 z

ijd
e
n 

a
fd

ic
h
te

n

A
sf

a
lt
 z

a
g
e
n
.

Le
g
g
e
n
 m

a
n
te

lb
u
i

s 
H

D
P

E
 Ø

5
0
, 
S

D
R

1
1

D
ie

pt
e
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

M
a
n
te
l

b
u
is

 b
e
id
e
 

zi
jd
e
n
 a

fd
ic

h
te
n

A
sf
a
lt 

za
g
e
n
.

Le
g
g
e
n
 m

a
n
te

lb
u
i

s 
H

D
P

E 
Ø

5
0
, 
S

D
R

1
1

D
ie

pt
e
: 
0
.4

m
-m

v
L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

M
a
n
te

lb
u
is

 b
e
id

e 
zi

jd
e
n
 a

fd
ich

te
n

A
sf

a
lt 

za
g
e
n
.

L
e
g
g
e
n
 m

a
n
te

lb
u
is 

H
D

P
E

 Ø
5
0
, 
S

D
R

1
1

D
ie

p
te
:

 0
.4m

-m
v

L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
1
x(

1
x2

vz
l)

M
a
n
te

lb
u
is

 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
1
x(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

ie
p
t

e:
 0

.4
m

-m
v

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

5
x(

1
x2

vz
l

)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
r

d
ie

p
te
: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l
)+

1
x(

1
x9

6
vz

l)

5.0

3. 1

A
sf

a
lt
 z

a
g
e
n
.

Le
g
g
e
n
 m

a
n
te

lb
u
i

s 
H

D
P

E 
Ø

5
0
, 
S

D
R

1
1

D
ie
p
te

: 0
.

4
m

-m
v

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l)
M

a
n
te
l

b
ui

s 
b
e
id

e
 zi

jd
e
n
 a
f

di
ch

te
n

A
sf

a
lt 

za
g

en
.

L
e
g
g
e
n

 m
a
n
t

e
lb

u
is

 H
D

P
E

 Ø
1
1
0,

 S
D

R
1
1

D
ie

p
te

: 
0
.4
m

-m
v

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 6
x(

1x2
vz

l)
M

a
n
te

lb
u
is

 
b
ei

d
e
 z

ijd
e
n 

a
fd

ic
h
te

n
A

sf
a
lt
 z

a
g
e
n
.

Le
g
g
e
n
 m

a
n
te

lb
u
i

s 
H

D
P

E
 Ø

5
0
, 
S

D
R

1
1

D
ie

pt
e
: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 1
x(1

x2
v

zl
)+

1x
(

2
x9

6vz
l)

M
a
n
te
l

b
u
is

 b
e
id
e
 

zi
jd
e
n
 a

fd
ic

h
te
n

4
.1

5.7

6 .
0

A
sf

a
lt
 z

a
g
e
n
.

L
eg

g
e
n
 

m
a
n
te
lb

u
i
s 

H
DP

E
 Ø

5
0
,

 S
D

R
1
1

D
ie
p
t

e
: 
0
.4

m
-m

v
L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
1
x(

1
x2

vz
l)

M
a
n
te
l

b
u
is

 b
e
id
e
 

zi
jd
e
n
 a

fd
ic

h
te
n

A
sf

a
lt
 z

a
g
e
n
.

L
eg

ge
n
 

m
a
n
te
l

b
ui

s 
H

DP
E

 Ø
5
0
,

 S
D

R
1
1

D
ie

pt
e
: 
0
.4

m
-m

v
L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
8
x(

1
x2

vz
l)
+

1
x(

1
x9

6
vz

l)
M

a
n
te

lb
u
is

 b
e
id

e 
zi

jd
e
n
 a

fd
ich

te
n

A
sf

a
lt 

za
g
e
n
.

L
e
g
g
e
n

 m
a
n
t

e
lb

u
is

 H
D

P
E

 Ø
5
0
, S

D
R

1
1

D
ie
p
te

: 0
.

4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

1
x2

vz
l)

M
a
n
te

lb
u
is 

b
e
id

e
 z

ijd
e
n
 a

fd
i

ch
te

n

A
sf

a
lt
 z

a
g
e
n
.

L
eg

g
e
n
 

m
a
n
te
lb

u
i
s 

H
DP

E
 Ø

5
0
,

 S
D

R
1
1

D
ie
p
t

e
: 
0
.4

m
-m

v
L
eg

g
e
n
 

g
la

sve
ze

lb
u
i

s 
1
x(

1
x2

vz
l)

M
a
n
te
l

b
u
is

 b
e
id
e
 

zi
jd
e
n
 a

fd
ic

h
te
n

A
sf

a
lt 

za
g

en
.

L
e
g
g
e
n

 m
a
nt

e
lb

u
is

 H
D

P
E

 Ø
5
0
, 
S

D
R

1
1

D
ie
p
te

: 0
.

4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
1
x(

1
x2

vz
l)

M
a
n
te

lb
u
is 

b
e
id

e
 z

ijd
e
n
 a

fd
i

ch
te

n

A
sf

a
lt,

 p
e
rsi

n
g
 s

ta
a
l Ø

5
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
2
vz

l)

5
.7

6
. 2

A
sf

a
lt,

 p
e
rsi

n
g 

st
a
a
l Ø

1
1
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 2
x(

1x
2
vz

l)
+

2
x(1

x9
6v

zl
)

2.
8

3
.0

B
or

e
n

G
e
st
u
u
rd

e
 b

o
ri
n
g
, 
m

a
n
te

lb
u
is

 H
D

P
E

 Ø
1
10

, S
D

R
1
1

B
o
o
rp

la
n
 

vo
l

g
t.

L
eg

ge
n
 

g
la

sve
ze
l

bu
i

s 
4
x(

1
x2

vz
l)

M
a
n
te

lb
u
i

s 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

A
sf

a
lt,

 p
e
r

si
n
g 

st
a
a
l Ø

1
1
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(1

x2
4
v

zl
)

5
.6

A
sf

a
lt 

za
g
en

.
L
e
g
g
e
n

 m
a
nt

e
lb

u
is

 H
D

P
E

 Ø
5
0
, 
S

D
R

1
1

D
ie

p
te
:

 0
.4m

-m
v

L
e
g
g
e
n

 g
las

ve
z

e
lb

u
is

 1x
(

1
x2

vz
l)

M
a
n
te

lb
u
i

s 
b
e
id

e
 z

ij
d
e
n
 a

fd
i

ch
t

e
n

A
sf

a
lt
 z

a
g
e
n
.

L
eg

g
e
n
 m

a
n
te

lb
u
i

s 
H

D
P

E
 Ø

1
1
0
,

 S
D

R
1
1

D
ie
p
t

e
: 0

.
4
m

-m
v

L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
4
x(

1
x2

vz
l

)
M

a
n
te
l

b
ui

s 
b
e
id

e
 zi

jd
e
n
 a
f

d
ic

h
te

n

5.1

5.1

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 1
x(1

x2
v

zl
)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

5
0

B
o
o
r

d
ie

p
te
:

 0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(1

x2
v

zl
)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
rd

iep
t

e
: 
0
.4

m
-m

v
L
e
g
ge

n
 

g
la

sv
e
ze

l
bu
i

s 
4
x(

1
x2

vz
l)

A
sf

a
lt
, 
pe

r
si

n
g
 s

ta
a
l Ø

5
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

1
x(1

x2
vz

l)

A
sf

a
lt
, 
p
e
rs

in
g
 st

a
a
l Ø

1
1
0

B
o
o
r

d
ie

p
te
:

 0
.4
m

-m
v

L
e
g
ge

n
 

g
la

sv
e
ze

l
b
u
is

 3
x(1

x2
v

zl
)

A
sf

a
lt,

 p
e
rs

in
g 

st
a
a
l Ø

1
1
0

B
oo
r

d
ie

p
te

: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 1
x(

1x
9
6
v

zl
)

A
sf

a
lt,

 p
e
r

si
n
g 

st
a
a
l Ø

4
0

B
o
o
rd

ie
p
t

e
: 
0.

4
m

-m
v

L
e
g
g
e
n

 g
la
sv

e
ze

lb
u
is

 1
x(

1
x2

vz
l)

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

7
x(

1
x2

vz
l

)+
1
x(

1x9
6
v

zl
)

A
sf
a
lt,

 p
e
r

si
n
g
 s

taa
l

 Ø
50

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L
eg

g
e
n
 g

l
a
sv

e
ze

lb
u
is

 
1
x(

1
x2

vz
l

)

Le
g
g
e
n
 g

l
a
sv
e
ze

lb
u
is 

2
x(1

x2
vz

l)
+

1
x(
1
x9

6
v

zl
)

B
e

sc
h

e
rm

in
gs

z
o

ne
, h

u
is

aa
ns

lu
iti

ng
en

 g
ra

ve
n

A
sf

a
lt,

 p
e
rsi

n
g
 s

ta
a
l Ø

1
1
0

B
o
o
rd

iep
t

e
: 
0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
z

el
b
u
is

 4
x(1

x2
v

zl
)+

1x
(

2
x9

6v
zl

)

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:1

0
0
0

0

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

2
.0

A
0

O
ve

rz
ic

ht

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1-
W

at
er

ke
rin

g-
Tr

ac
e 

N
ie

uw
 B

er
ge

n-
Be

rg
en

-W
el

l

O
n
tw

e
rp



A
2

Van
 St

rae
lens

traa
t

Si
nt
 P
et
ru
ss
tr
aa
t

Sie
ben

gew
ald

sew
eg

Si
eb
en
ge
wa

ld
se
we

g

Da
em

 v
an
 K
ek
en
st
raa

t

Lin
den

laa
n

Vl
am
me
rt
se
ho
f

M
os
aï
qu
e

2

2

21

11

36

26
3

1

2
27

21

5

1

27
5

4c

3-
5a

24

21

2c

10

14

23

17

9b
-1
1

31
a

4a

42

13

26
5

6

25
3

53

5-
9b

26
7

27
3

35
-4

7

23

18
-1

8e

12
-1
2d

22

26

24
3

21
-2
3

29

28

12

2-
50

3

17

27
1

25
1

9

18

1

44

27
a

25

16

16

9-
9a

10
-1
0d

27
-2
9

2

30

1-
19
7

34

32

8

10

24
5

2b

4b

28

25

20

4

5

1-
1a

19

26

6

24
9

3

29

31
-3

1a

19

10

24
7

7

4

12

4

38

8

1

21
1

2

3

24

11a
-1
3

15
-1
9

7

14

25

19

15

20
9

2a

14
-1
6

27

2

9-
11

26
9

21
3

18 3

31

N
27

1

N
27

1

B
o
re

n

A
sf

a
lt 

z
a
g

e
n
, 
m

a
n

te
lb

u
is

 H
D

P
E

 Ø
1
1
0
, 
S

D
R

1
1

D
ie

p
te

: 
0
.4

m
-m

v
L

e
g

g
e
n

 g
la

s
ve

ze
lb

u
is

 2
x(

1
x2

vz
l)
+

2
x(

1
x9

6
v
zl

)
M

a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

L
e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 1
x(

1
x2

vz
l)

D
ie

p
te

 0
.4

m
-m

v

L
e

g
g

e
n

 g
la

sv
e
z
e
lb

u
is

 1
x(

1
x2

v
zl

)

G
e
st

u
u

rd
e

 b
o
ri
n

g
, 

m
a

n
te

lb
u
is

 H
D

P
E

 Ø
1

1
0
, 

S
D

R
1
1

B
o
o
rp

la
n
 v

o
lg

t.
L
e

g
g

e
n

 g
la

sv
e
z
e
lb

u
is

 2
x(

1
x9

6
vz

l)
M

a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

5.
5

A
sf

a
lt
 z

a
g
e

n
, 
m

a
n
te

lb
u

is
 H

D
P

E
 Ø

1
1

0
, 

S
D

R
1
1

D
ie

p
te

: 
0

.4
m

-m
v

L
e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 2
x(

1
x
9
6
vz

l)

9.7

B
e

sc
h
e

rm
in

g
s
zo

n
e
, 

h
u

is
a
a
n
s
lu

it
in

g
e

n
 g

ra
ve

n

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:5

0
0

N

L
e

g
e

n
d

a

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

2
.0

A
0

A
2
/A

3

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1
-W

at
e

rk
e

ri
n

g
-T

ra
ce

 N
ie

u
w

 B
e

rg
e

n

O
n
tw

e
rp

D
im

e
n

si
o
n

e
ri
n

g
:

M
a

n
te

lb
u
is

:

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):
 d

ie
p

te
: 

0
.4

m
-m

v;
 b

re
e
d

te
: 
0

.3
m

.

2
0

.0

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):

W
a

te
rl

o
o

p
/o

p
p

e
rv

la
kt

e
 w

a
te

re
n

:

W
a

te
rk

e
ri
n

g
:

H
a

n
d
h

o
le

:



A
3

Da
em

 v
an
 K
ek
en
st
ra
at

Ke
rk
st
ra
at

Li
nd

en
la
an

11
b

3

1c

9

15
-1
5a

1d

6

13

5

31
a 3

7

13

9
1b

17

1

2

13

1a

2

11

7

1

11

33

11

5

19

2b

2c
N
27

1

N
27

1

L
e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 2
x(

1
x9

6
v
zl

)

L
e

g
g

e
n

 g
la

sv
e
z
e
lb

u
is

 1
x(

1
x2

v
zl

)L
e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 2
x(

1
x
9
6
vz

l)
M

a
n
te

lb
u
is

 b
e
id

e
 z

ijd
e

n
 a

fd
ic

h
te

n

A
sf

a
lt 

z
a
g

e
n

, 
m

a
n

te
lb

u
is

 H
D

P
E

 Ø
1
1
0

, 
S

D
R

1
1

D
ie

p
te

: 
0

.4
m

-m
v

L
e
g

g
e
n

 g
la

s
ve

ze
lb

u
is

 2
x(

1
x9

6
v
zl

)
M

a
n
te

lb
u

is
 b

e
id

e
 z

ijd
e

n
 a

fd
ic

h
te

n

5
. 4

G
e
s
tu

u
rd

e
 b

o
ri

n
g

, 
m

a
n

te
lb

u
is

 H
D

P
E

 Ø
1

1
0

, 
S

D
R

1
1

B
e

sc
h
e
rm

in
g
s
zo

n
e
, 

h
u

is
a
a
n
s
lu

it
in

g
e

n
 g

ra
ve

n

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:5

0
0

N

L
e

g
e

n
d

a

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

3
.0

A
0

A
3
/A

3

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1
-W

at
e

rk
e

ri
n

g
-T

ra
ce

 N
ie

u
w

 B
e

rg
e

n

O
n
tw

e
rp

D
im

e
n

si
o
n

e
ri
n

g
:

M
a

n
te

lb
u
is

:

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):
 d

ie
p

te
: 

0
.4

m
-m

v;
 b

re
e
d

te
: 
0

.3
m

.

2
0

.0

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):

W
a

te
rl

o
o

p
/o

p
p

e
rv

la
kt

e
 w

a
te

re
n

:

W
a

te
rk

e
ri
n

g
:

H
a

n
d
h

o
le

:



B
1

Kam
pwe

g

Sintelenberg

8a

1

3

4e

2

1a

Pe
rs
in
g 
St
aa
l 
∅1
10

Persing Staal ∅110

3
.8

B
e
s
ch

e
rm

in
g

s
z
o
n
e
, 

h
u

is
a
a

n
sl

u
iti

n
g
e

n
 g

ra
v
e
n

B
o
re

n

G
e
s
tu

u
rd

e
 b

o
ri

n
g

, 
m

a
n

te
lb

u
is

 H
D

P
E

 Ø
1

1
0

, 
S

D
R

1
1

B
o
o
rp

la
n

 v
o
lg

t.
L

e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 4
x(

1
x2

vz
l)

M
a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

A
sf

a
lt 

z
a
g

e
n

.
L
e

g
g

e
n
 m

a
n
te

lb
u
is

 H
D

P
E

 Ø
5
0

, 
S

D
R

1
1

D
ie

p
te

: 
0

.4
m

-m
v

L
e

g
g

e
n
 g

la
sv

e
ze

lb
u
is

 1
x(

1
x
2
vz

l)
M

a
n
te

lb
u
is

 b
e
id

e
 z

ijd
e

n
 a

fd
ic

h
te

n

A
sf

a
lt
 z

a
g
e

n
.

L
e
g

g
e
n

 m
a
n
te

lb
u

is
 H

D
P

E
 Ø

1
1
0

, 
S

D
R

1
1

D
ie

p
te

: 
0
.4

m
-m

v
L

e
g

g
e
n

 g
la

s
ve

ze
lb

u
is

 4
x(

1
x2

vz
l)

M
a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

5.
1

5.
1

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:5

0
0

N

L
e

g
e

n
d

a

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

3
.0

A
0

B
1
/B

1

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1
-W

a
te

rk
e
ri

n
g

-T
ra

ce
 B

e
rg

e
n

O
n
tw

e
rp

D
im

e
n

si
o
n

e
ri
n

g
:

M
a

n
te

lb
u
is

:

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):
 d

ie
p

te
: 

0
.4

m
-m

v;
 b

re
e
d

te
: 
0

.3
m

.

2
0

.0

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):

W
a

te
rl

o
o

p
/o

p
p

e
rv

la
kt

e
 w

a
te

re
n

:

W
a

te
rk

e
ri
n

g
:

H
a

n
d
h

o
le

:



C
1

De Kamp

De Ka
mp

De
 K
am

p

H
al
ve

 M
aa

ns
ew

eg

3

6a

6

1

A
sf

a
lt 

z
a
g

e
n

.
L
e

g
g

e
n

 m
a
n
te

lb
u
is

 H
D

P
E

 Ø
1

1
0

, 
S

D
R

1
1

D
ie

p
te

: 
0

.4
m

-m
v

L
e
g
g
e
n
 g

la
sv

e
ze

lb
u

is
 2

x(
1
x
9
6

vz
l)

M
a
n
te

lb
u
is

 b
e
id

e
 z

ijd
e
n
 a

fd
ic

h
te

n

B
e
s
c
h
e

rm
in

g
sz

o
n
e

, 
h
u

is
a

a
n
s
lu

it
in

g
e

n
 g

r a
v
e
n

A
sf

a
lt 

za
g
e
n
.

L
e

g
g

e
n

 m
a
n
te

lb
u
is

 H
D

P
E

 Ø
5

0
, 

S
D

R
1
1

D
ie

p
te

: 
0
.4

m
-m

v
L
e

g
g

e
n

 g
la

s
ve

z
e
lb

u
is

 1
x(

1
x2

vz
l)

M
a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n
 a

fd
ic

h
te

n

2
.8

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:5

0
0

N

L
e

g
e

n
d

a

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

3
.0

A
0

C
1
/C

9

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1
-W

a
te

rk
e
ri

n
g

-T
ra

ce
 W

e
ll

O
n
tw

e
rp

D
im

e
n

si
o
n

e
ri
n

g
:

M
a

n
te

lb
u
is

:

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):
 d

ie
p

te
: 

0
.4

m
-m

v;
 b

re
e
d

te
: 
0

.3
m

.

2
0

.0

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):

W
a

te
rl

o
o

p
/o

p
p

e
rv

la
kt

e
 w

a
te

re
n

:

W
a

te
rk

e
ri
n

g
:

H
a

n
d
h

o
le

:



C
2

De
 K
am

p

De
 K
am

p

De
 K
am

p

D
e 

Ka
m
p

Si
nt
el
en
be
rg

8

3b 16

5

10

14

18

3a

12
12
a

B
e

sc
h

e
rm

in
g

s
zo

n
e

, 
h

u
is

a
a
n

sl
u
iti

n
g

e
n

 g
ra

v
e

n

A
sf

a
lt
 z

a
g
e

n
.

L
e
g

g
e
n

 m
a
n
te

lb
u

is
 H

D
P

E
 Ø

5
0
, 

S
D

R
1
1

D
ie

p
te

: 
0
.4

m
-m

v
L

e
g

g
e
n

 g
la

s
ve

ze
lb

u
is

 1
x(

1
x2

vz
l)

M
a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

A
s
fa

lt 
z
a
g
e
n
.

L
e
g
g
e
n
 m

a
n
te

lb
u

is
 H

D
P

E
 Ø

5
0

, 
S

D
R

1
1

D
ie

p
te

: 
0

.4
m

-m
v

L
e
g
g
e
n
 g

la
sv

e
ze

lb
u

is
 8

x(
1
x
2
vz

l)
+

1
x
(1

x9
6
vz

l)
M

a
n
te

lb
u

is
 b

e
id

e
 z

ijd
e

n
 a

fd
ic

h
te

n

A
s
fa

lt 
za

g
e

n
.

L
e

g
g

e
n

 m
a
n
te

lb
u
is

 H
D

P
E

 Ø
5
0
, 
S

D
R

1
1

D
ie

p
te

: 
0

.4
m

-m
v

L
e
g

g
e
n
 g

la
sv

e
ze

lb
u

is
 1

x(
1
x
2
vz

l)
M

a
n
te

lb
u

is
 b

e
id

e
 z

ijd
e

n
 a

fd
ic

h
te

n

A
s
fa

lt 
za

g
e

n
.

L
e

g
g

e
n

 m
a
n
te

lb
u
is

 H
D

P
E

 Ø
5

0
, 

S
D

R
1
1

D
ie

p
te

: 
0

.4
m

-m
v

L
e
g
g
e
n
 g

la
sv

e
ze

lb
u

is
 1

x(
1
x
2
vz

l)
M

a
n
te

lb
u
is

 b
e
id

e
 z

ijd
e

n
 a

fd
ic

h
te

n

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:5

0
0

N

L
e

g
e

n
d

a

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

3
.0

A
0

C
2
/C

9

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1
-W

a
te

rk
e
ri

n
g

-T
ra

ce
 W

e
ll

O
n
tw

e
rp

D
im

e
n

si
o
n

e
ri
n

g
:

M
a

n
te

lb
u
is

:

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):
 d

ie
p

te
: 

0
.4

m
-m

v;
 b

re
e
d

te
: 
0

.3
m

.

2
0

.0

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):

W
a

te
rl

o
o

p
/o

p
p

e
rv

la
kt

e
 w

a
te

re
n

:

W
a

te
rk

e
ri
n

g
:

H
a

n
d
h

o
le

:



C
7

M
ol
en
ei
nd

2
4

19
a

12 14

1

1

19
c

3

2

G
ra

v
e
n

B
o
re

n

6
.5

P
er

si
ng

 S
ta

al
 ∅

11
0

3.2

3.2

P
er

si
ng

 S
ta

al
 ∅

11
0

B
e
sc

h
e

rm
in

g
s
z o

n
e

, 
h
u

is
a

a
n
sl

u
iti

n
g

e
n
 g

r a
v
e
n

A
s
fa

lt,
 p

e
rs

in
g
 s

ta
a
l Ø

5
0

B
o
o
rd

ie
p

te
: 

0
.4

m
-m

v
L

e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 2
x(

1
x2

vz
l)

G
e
st

u
u

rd
e

 b
o
ri
n

g
, 

m
a

n
te

lb
u
is

 H
D

P
E

 Ø
1

1
0
, 

S
D

R
1
1

B
o
o
rp

la
n

 v
o
lg

t.
L

e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 1
x(

1
x2

vz
l)

M
a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

B
o
re

n

B
o
re

n

G
e

st
u
u

rd
e

 b
o
ri
n

g
, 

m
a

n
te

lb
u
is

 H
D

P
E

 Ø
1
1
0
, 
S

D
R

1
1

B
o
o
rp

la
n
 v

o
lg

t.
L
e

g
g

e
n

 g
la

sv
e
z
e
lb

u
is

 3
x(

1
x2

vz
l)
+

1
x(

2
x9

6
v
zl

)
M

a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

B
e

s
c h

e
rm

i n
g

s z
o

n
e

, 
h

u
i s

a
a
n

s
l u

it
i n

g
e
n

 g
ra

v e
n

A
sf

a
lt,

 p
e

rs
in

g
 s

ta
a
l 
Ø

1
1
0

B
o
o
rd

ie
p

te
: 

0
.4

m
-m

v
L
e
g
g
e
n
 g

la
sv

e
ze

lb
u

is
 4

x(
1
x
2
vz

l)
+

1
x
(2

x9
6
vz

l)

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:5

0
0

N

L
e

g
e

n
d

a

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

3
.0

A
0

C
7
/C

9

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1
-W

a
te

rk
e
ri

n
g

-T
ra

ce
 W

e
ll

O
n
tw

e
rp

D
im

e
n

si
o
n

e
ri
n

g
:

M
a

n
te

lb
u
is

:

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):
 d

ie
p

te
: 

0
.4

m
-m

v;
 b

re
e
d

te
: 
0

.3
m

.

2
0

.0

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):

W
a

te
rl

o
o

p
/o

p
p

e
rv

la
kt

e
 w

a
te

re
n

:

W
a

te
rk

e
ri
n

g
:

H
a

n
d
h

o
le

:



C
8

Her
der

sdr
eef

Kn
ikk

er
do
rp

Ho
og
ve

ld
se

we
g

Ge
ys
se
lb
er
g

8

11

8a

9a
9

1

6

A
s
fa

lt,
 p

e
rs

in
g
 s

ta
a
l Ø

1
1

0
B

o
o
rd

ie
p

te
: 

0
.4

m
-m

v
L

e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 4
x(

1
x2

vz
l)

A
sf

a
lt
, 
p
e
rs

in
g

 s
ta

a
l Ø

1
1
0

B
o
o
rd

ie
p
te

: 
0
.4

m
-m

v
L

e
g
g
e
n

 g
la

s
ve

z
e
lb

u
is

 4
x(

1
x2

vz
l)

B
e

s c
h

e
rm

in
g
s
z
o
n

e
,  
h

u
is

a
a

n
s
lu

it i
n
g
e

n
 g

ra
v
e

n

A
sf

a
lt,

 p
e

rs
in

g
 s

ta
a
l 
Ø

5
0

B
o

o
rd

ie
p
te

: 
0

.4
m

-m
v

L
e

g
g

e
n

 g
la

sv
e
z
e
lb

u
is

 2
x(

1
x2

v
zl

)

A
sf

a
lt 

z
a
g

e
n

.
L
e

g
g
e
n
 m

a
n
te

lb
u

is
 H

D
P

E
 Ø

1
1

0
, 

S
D

R
1
1
,

D
ie

p
te

: 
0

.4
m

-m
v

L
e

g
g
e
n
 g

la
sv

e
ze

lb
u

is
 5

x(
1
x
2
vz

l)
M

a
n
te

lb
u
is

 b
e
id

e
 z

ijd
e

n
 a

fd
ic

h
te

n
.

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:5

0
0

N

L
e

g
e

n
d

a

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

3
.0

A
0

C
8
/C

9

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1
-W

a
te

rk
e
ri

n
g

-T
ra

ce
 W

e
ll

O
n
tw

e
rp

D
im

e
n

si
o
n

e
ri
n

g
:

M
a

n
te

lb
u
is

:

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):
 d

ie
p

te
: 

0
.4

m
-m

v;
 b

re
e
d

te
: 
0

.3
m

.

2
0

.0

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):

W
a

te
rl

o
o

p
/o

p
p

e
rv

la
kt

e
 w

a
te

re
n

:

W
a

te
rk

e
ri
n

g
:

H
a

n
d
h

o
le

:



C
9

Knik
ker

dor
p

Knik
ker

dor
p

Ge
ys
se
lb
er
g

4

6

8

10

B
e

s c
h
e

rm
in

g
s
zo

n
e
, 

h
u
is

a
a

n
s l

u
it i

n
g
e

n
 g

ra
v
e

n

G
e
s
tu

u
rd

e
 b

o
ri

n
g
, 
m

a
n
te

lb
u
is

 H
D

P
E

 Ø
1

1
0

, 
S

D
R

1
1

B
o
o
rp

la
n

 v
o
lg

t.
L

e
g

g
e
n

 g
la

s
ve

ze
lb

u
is

 1
x(

1
x2

vz
l)

M
a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

B
o
re

n

G
e
st

u
u

rd
e

 b
o
ri
n

g
, 

m
a

n
te

lb
u
is

 H
D

P
E

 Ø
1

1
0
, 

S
D

R
1
1

B
o
o
rp

la
n
 v

o
lg

t.
L
e

g
g

e
n

 g
la

s
ve

z
e
lb

u
is

 4
x(

1
x2

vz
l)

M
a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

B
o
re

n

L
e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 4
x(

1
x2

vz
l)

A
sf

a
lt
 z

a
g
e

n
.

L
e
g
g
e
n

 m
a
n
te

lb
u
is

 H
D

P
E

 Ø
1

1
0

, 
S

D
R

1
1

,
D

ie
p
te

: 
0
.4

m
-m

v
L

e
g
g
e
n

 g
la

s
ve

z
e
lb

u
is

 1
x(

1
x2

vz
l)

A
sf

a
lt
 z

a
g
e

n
.

L
e
g

g
e
n

 m
a
n
te

lb
u

is
 H

D
P

E
 Ø

1
1
0

, 
S

D
R

1
1

,
D

ie
p
te

: 
0
.4

m
-m

v
L

e
g

g
e
n
 g

la
s
ve

ze
lb

u
is

 3
x(

1
x2

vz
l)

M
a

n
te

lb
u

is
 b

e
id

e
 z

ijd
e

n
 a

fd
ic

h
te

n

A
sf

a
lt
 z

a
g
e

n
.

L
e
g

g
e
n

 m
a
n
te

lb
u

is
 H

D
P

E
 Ø

5
0
, 

S
D

R
1
1
,

D
ie

p
te

: 
0
.4

m
-m

v
L

e
g
g
e
n

 g
la

s
ve

z
e
lb

u
is

 1
x(

1
x2

vz
l)

M
a
n

te
lb

u
is

 b
e
id

e
 z

ijd
e
n

 a
fd

ic
h
te

n

Knik
ker

dor
p

8

10

2
8
-1

0
-2

0
1
9
 1

2
:3

0
S

T
O

B
E

R
-0

1
-V

er
g

u
n
n

in
g

st
e
ke

n
in

g
 W

a
te

rk
e
ri
n

g
 -

 T
ra

ce
 N

ie
u
w

 B
e

rg
e
n

-B
e
rg

e
n
-W

e
ll 

(V
3
.0

).
d
w

g

1
:5

0
0

N

L
e

g
e

n
d

a

O
n

tw
e

rp
d
a

tu
m

:

V
e

rs
ie

:

A
c
c
o

or
d

 p
ro

je
c
tle

id
er

:

D
a

tu
m

 la
a

ts
te

 w
ijz

ig
in

g
:

U
itv

o
e

ri
n

g
s
 d

a
tu

m
:

G
e
te

k
e
n

d
:

O
n

d
e

rw
e

rp
:

F
o
rm

a
a

t:
O

p
d

ra
c
h

tg
e

ve
r:

B
la

d
n
u
m

m
e

r: P
ro

je
c

tn
r.

 k
la

n
t:

 
P

ro
je

c
tn

r.
:

S
ch

a
a

l:

B
e

st
a

n
d

sn
a
a

m
:

D
e

z
e

 te
k
e

n
in

g
 b

lij
ft

 e
ig

e
n

d
o

m
 v

a
n

S
pi

e
 -

 S
m

a
rt

 c
it

y
 N

et
w

o
rk

 S
o

lu
ti
o

n
s
 e

n
m

a
g

 z
o

n
d

e
r 

o
n

z
e

 t
o

es
te

m
m

in
g 

n
ie

t a
a

n
d

e
rd

e
n

 t
e
r 

in
z
a

ge
 g

e
g

e
v
e

n
 w

o
rd

e
n

E
x
ac

te
 lo

c
a

tie
s

 d
ie

n
e

n
 te

 w
o

rd
e

n
 b

e
p

a
al

d
d

o
o

r 
h

et
 g

ra
v
e

n
 v

a
n
 p

ro
e

f-
 s

le
u

v
e

n
.

S
pi

e
 -

 S
m

a
rt

 c
ity

 N
et

w
o

rk
 S

o
lu

tio
n

s
 is

 n
ie

t
a

a
n

- 
sp

ra
k
e

lij
k
 v

o
o

r 
sc

h
a

d
e

 d
o
o

r 
d

e
rd

e
n

.

S
p
ie

 -
 
S
m

a
rt

 c
it
y
 N

e
tw

o
rk

 S
o
lu

ti
o
n
s

M
e
n
h

ir
w

e
g
 6

P
o
s
tb

u
s
 2

5
5

5
3

4
0
 A

G
  
O

ss

T
 +

3
1
 (

0
)8

8
-3

1
 3

1
 0

0
0

F
 +

3
1

 (
0

)8
8

-3
1
 3

1
 0

0
1

E
 i

n
fo

.o
s
s@

s
p

ie
.c

o
m

C
A

IW
V

3
.0

A
0

C
9
/C

9

0
1
2

0
1

.1
9

.3
0

0
0

.0
0

0
0

B
E

R
-0

1
-W

a
te

rk
e
ri

n
g

-T
ra

ce
 W

e
ll

O
n
tw

e
rp

D
im

e
n

si
o
n

e
ri
n

g
:

M
a

n
te

lb
u
is

:

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):
 d

ie
p

te
: 

0
.4

m
-m

v;
 b

re
e
d

te
: 
0

.3
m

.

2
0

.0

G
e

u
l/t

ra
cé

 (
N

ie
u
w

):

W
a

te
rl

o
o

p
/o

p
p

e
rv

la
kt

e
 w

a
te

re
n

:

W
a

te
rk

e
ri
n

g
:

H
a

n
d
h

o
le

:


